

DATE:

MAR 1 6 2004



File Number

Title

City of West Allis Matter Summary

Status

7525 W. Greenfield Ave. West Allis, WI 53214

R-2004-0091 Resolution In Committee Resolution to approve bid of Super Excavators, Inc. for sanitary sewer relay in W. Greenfield Ave. from 90 ft. west of S. 108 St. to S. 116 St., in the amount of \$639,932. Controlling Body: Public Works Committee Introduced: 03/16/2004 COMMITTEE RECOMMENDATION MOVER SECONDER AYE NO PRESENT **EXCUSED ACTION** Barczak DATE: Czaplewski Kopplin Lajsic Narlock Reinke Sengstock Trudell Vitale Weigel TOTAL SIGNATURE OF COMMITTEE MEMBER (RECORDER) Vice-Chair Member ADOPT COMMON COUNCIL ACTION SECONDER MOVER AYE NO PRESENT **EXCUSED** ACTION Barczak

City of West Allis Page 1 Printed on 03/11/2004

Czaplewski Kopplin

Lajsic Narlock Reinke Sengstock Trudell Vitale Weigel

TOTAL



COMMITTEES OF THE WEST ALLIS COMMON COUNCIL 2003

ADMINISTRATION AND FINANCE

Chair: Alderperson Czaplewski V.C.: Alderperson Kopplin Alderpersons: Barczak

Lajsic Reinke

ADVISORY

Chair: Alderperson Reinke
V.C.: Alderperson Vitale
Alderpersons: Kopplin

Lajsic Narlock

LICENSE AND HEALTH

Chair: Alderperson Barczak V.C.: Alderperson Sengstock Alderpersons: Kopplin

Trudell Vitale

SAFETY AND DEVELOPMENT

Chair: Alderperson Lajsic
V.C.: Alderperson Weigel
Alderpersons: Czaplewski
Narlock
Reinke

PUBLIC WORKS

Chair: Alderperson Narlock V.C.: Alderperson Trudell Alderpersons: Sengstock Weigel

Vitale



City of West Allis

7525 W. Greenfield Ave. West Allis, WI 53214

Resolution

File Number: R-2004-0091

Final Action:

MAR 1 6 2004

Resolution to approve bid of Super Excavators, Inc. for sanitary sewer relay in W. Greenfield Ave. from 90 ft. west of S. 108 St. to S. 116 St., in the amount of \$639,932.

WHEREAS, The Board of Public Works reports that it duly advertised for bids for the furnishing of certain materials and the performance of all work required for the improvements in a certain area as hereinafter described; that the bids received as shown on the attached bid report were reasonable and hereby recommends and deems it to be for the best interests of the City of West Allis that the bid of Super Excavators, Inc. for 2004 Project No. 4 be accepted.

NOW, THEREFORE, BE IT RESOLVED By the Common Council of the City of West Allis that the bid of Super Excavators, Inc. for 2004 Project No. 4:

Sanitary Sewer Relay W. Greenfield Ave. from 90 ft. west of S. 108 St. to S. 116 St. (Plan File No(s). S-1276, S-1277, S-1278 & S-1279)

for the sum of Six Hundred Thirty-nine Thousand Nine Hundred Thirty Two Dollars (\$639,932)

be accepted, and the proper City officers are hereby authorized and directed to enter into contractual relations with said contractor for the performance of said work, in accordance with the prices submitted in their proposal and with the specifications of the City of West Allis, and that all other bids received for same be rejected; and,

BE IT FURTHER RESOLVED That said improvements be installed with funding by Sanitary Sewer Funds.

Eng04-39

ADOPTED

Paul M. Ziehler, City Admin. Officer, Clerk/Treas.

APPROVED

Jeannette Bell, Mayor

CITY OF WEST ALLIS 2004 Project No. 4 Bid Opening - 3/11/04

SANITARY SEWER RELAY

W. Greenfield Ave. from 90 ft. west of S. 108 St. to S. 116 St.

			Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%		Bid Bond 5%	
			Super Excavators Inc. N59 W14601 Bobolink Ave. Menomonee Falls WI 53051		Mainline Sewer & Water Inc. 11430 W Bluemound Rd #16 Wauwatosa WI 53226		P O Box 044580		Globe Contractors Inc. N50 W23076 Betker Rd P O Box 450 Pewaukee WI 53072-0450		American Sewer Service Inc 6151 O'Connell St. Hartford WI 53027		Underground Pipeline Inc 2180 S. Springdale Rd New Berlin WI 53146	
ITEM	Ú	INITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
1 24" dia. Sanitary Sewer Relay	2318	lin. ft.	179.00	414,922.00	207.00	479,826.00	218.00	505,324.00	245.00	567,910.00	268.00	621,224.00	294.00	681,492.00
2 21" dia. Sanitary Sewer Relay	200	lin. ft.	150.00	30,000.00	174.00	34,800.00	181.00	36,200.00	235.00	47,000.00	182.00	36,400.00	254.00	50,800.00
3 4'0" dia. Sanitary Manhole (8)	118	vert. ft.	130.00	15,340.00	180.00	21,240.00	230.00	27,140.00	140.00	16,520.00	125.00	14,750.00	154.00	18,172.00
4 4'0" dia. Sanitary Outside Drop N	16	vert. ft.	200.00	3,200.00	244.00	3,904.00	360.00	5,760.00	250.00	4,000.00	200.00	3,200.00	262.00	4,192.00
3 Sanitary Gauging Manhole	1	unit	3,500.00	3,500.00	4,372.00	4,372.00	5,200.00	5,200.00	12,000.00	12,000.00	5,600.00	5,600.00	6,051.00	6,051.00
5 Sanitary Reconnects		sq. yds.	130.00	3,250.00	159.00	3,975.00	100.00	2,500.00	600.00	15,000.00	200.00	5,000.00	84.00	2,100.00
6 Type "A" Pavement Replacement		sq. yds.	54.00	35,370.00	42.75	28,001.25	36.40	23,842.00	40.00	26,200.00	47.00	30,785.00	40.00	26,200.00
7 Type "B" Pavement Replacement	2780	sq. yds.	39.25	109,115.00	34.60	96,188.00	27.15	75,477.00	27.00	75,060.00	31.00	86,180.00	29.00	80,620.00
8 Pavement Ties	1705	units	7.00	11,935.00	3.00	5,115.00	4.20	7,161.00	6.00	10,230.00	6.00	10,230.00	5.25	8,951.25
9 Inlet Protection Barriers	23	units	100.00	2,300.00	16.00	368.00	50.00	1,150.00	40.00	920.00	50.00	1,150.00	30.00	690.00
10 Traffic Control	1	lump sum	11,000.00	11,000.00	23,500.00	23,500.00	21,000.00	21,000.00	25,000.00	25,000.00	2,500.00	2,500.00	10,100.00	10,100.00
Low Bidder in Bold				639,932.00		701,289.25		710,754.00		799,840.00		817,019.00		889,368.25